Wed, Oct. 2, 2013 MATH 250, Quiz 4 Prof. V. Panferov

Name (print): (S) 0‘&( 7[,‘0 us.

Each problem is worth 2 points. Show all your work.

1. Sketch the curve with the given vector equation. Find 7'(¢). Sketch the vectors 7(t)
and 7'(t) for the given value of ¢:

Ft)=e?i+e], t=0.
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2. Find the derivative of the vector function 7(t) = (¢sint, 2, cos 2t).
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Please turn over...



3. Find the length of the curve:

Ft) = V2ti+etj+etk, 0<t<1.
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4. Find the unit tangent vector T'(t):

7(t) = (¢, 3cost,3sint).
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